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These questions are for use in the Virginia High School League’s Scholastic Bowl State Championships. Shawn Pickrell, Marian Suter, Adam Fine, Chris Moretti, Susan Gallaher, Ross Irwin, Jason Mueller and Fred Morlan are the authors of these questions. Pickrell, Fine and Suter edited the questions, with the assistance of John Harris, Don Remnant and Samer Ismail.

The following condition must be known by all coaches, competitors and spectators of the competition:

These questions may not be released AT ANY TIME to entities outside the Commonwealth of Virginia, except with prior approval of Shawn Pickrell. Discussion of these questions, however, is permitted between entities within and without the Commonwealth of Virginia This will apply to ANY entity in the Commonwealth of Virginia that receives these questions, be it directly from Shawn Pickrell or indirectly through various means.
First period: 15 tossups, worth 10 points

1.  A young married woman has an affair with an unmarried man in turn-of-the-century New Orleans. She is made aware of her sexuality but eventually leaves her family and commits suicide. What is this novel by Kate Chopin (sho-pan)?

ANSWER: The Awakening
2.  It was first suggested in 1954 by Senator Harry Byrd and was implemented by a series of 1956 General Assembly laws, leading to the closing of several high schools. It collapsed in 1960 after schools re-opened around the state and the General Assembly changed course. What was this policy used by white Virginia politicians to politically oppose the integration of public schools?

ANSWER: massive resistance
3.  Her stage debut was in 1975's Trelawny of the Wells.  She won an Emmy for her role in the miniseries Holocaust, and her first film, Julia, was followed by her portrayal of a Vietnam-era girlfriend in The Deer Hunter, for which she garnered her first Oscar nomination.  Name this two-time Academy Award winner for Kramer vs. Kramer and Sophie's Choice, a record 13-time nominee.

ANSWER: Meryl Streep
4.  Mwai [MWHY] Kibaki [kih-BAH-kee] was elected President of this country in 2002, replacing long-time President Daniel Arap Moi [MOY]. What is this country where sporadic fighting is currently ongoing between its Kikuyu and Masai tribes?

ANSWER: Kenya
5.   Along with Armand Fizeau (fih-ZOH), he photographed the Sun in 1845.  He measured the speed of light using a rotation mirror.  Name this French inventor of the gyroscope and his namesake pendulum.

ANSWER: Leon Foucault (foo-KOH)

6.  People in sub-Saharan Africa missed out on it, going straight from stone to iron. Some historians add a "Chalcolithic", or copper, period before it and after the earlier, stone, period. What two-word term is used to describe the era when man made tools from a copper-based alloy?

ANSWER: Bronze Age
7.  This word is, in Italian, the masculine singular definite article. What is this two-letter word, most often associated with the word "Duce" [DOO-chay]?

ANSWER: il [EEL, accept ILL as the pronunciation]

8.  It is the story of a middle-aged artist whose character deteriorates because of his hopeless passion for a young Polish boy, and whose death is the final irony of his emotional upheaval. What is this novella written by Thomas Mann (mahn)?

ANSWER: Death in Venice
9.  In the prologue, the “Spirit of Music” welcomes the audience, and explains the magical powers of the title character’s music. Act One of this 1607 opera features a wedding, while in Act Two, the title character’s wife dies from a snake bite. Greek myth inspired what five-act tragic opera, the first major opera, by Claudio Monteverdi [mon-tuh-VAIR-dee]?

ANSWER: Orfeo (or L'Orfeo; reluctantly accept "Orpheus")

10.  Whose principle states that if a stress is placed upon a system in equilibrium, the equilibrium is displaced in the direction that counteracts the effect of the stress?

ANSWER: Le Chatelier's [chah-tuh-lee-AYS] principle

11.  She began as a goddess but was condemned, along with her husband, to live on Earth as a mortal.  In response, she got her husband to get an elixir of immortality from Xi (SHE) Wang Mu, but swiped the elixir and fled to the Moon.  Who was this wife of Yi the Archer, transformed on the Moon into a three-legged toad?

ANSWER: Zhang E (or Zhang O or Chang E or Chang O)

12.  George wrote several essays under the pseudonym "Cato" arguing against the Constitution, and was Vice-President for two terms. De Witt was the inventor of the "spoils system" and father of the Erie Canal. These two shared what last name, also the surname of our 42nd President?

ANSWER: Clinton
13.  THIS IS A COMPUTATION QUESTION. In simplified radical form, what is the length of the unknown leg of a right triangle whose hypotenuse is 15 and whose known leg is 5?

ANSWER: 10 SQRT(2) (5 squared is 25, 15 squared is 225, thus the difference is 200. The square root of 200 is 10 square roots of 2)

14. Today, it usually consists of a glass column about a yard tall placed in an open dish filled with mercury or some other dense liquid. What is this instrument that measures changes in air pressure, first invented by Evangelista Torricelli in 1643?

ANSWER: barometer
15.  This poet, despite the moral strictures of both state and church, pledged in the 1780s that “the kirk an’ state may gae [go] to hell and I’ll gae to my Anna.” Name this Scottish poet of “To a Mouse” and “Auld Lang Syne.”

ANSWER: Robert Burns
Second period, 10 directed questions per team, worth 10 points

Questions with an “A” after their number will be read to the team that selects set A of questions; questions with a “B” after their number will be read to the team that selects set B of questions.

1A.
Yuri Gagarin of the Soviet Union became the first man in space on April 12, 1961.  Who later became the first woman in space, orbiting the Earth for 3 days starting on June 16, 1963?

ANSWER: Valentina Tereshkova
1B.
What city on the Gulf Coast of Texas was destroyed by a hurricane in September 1900?

ANSWER: Galveston, Texas

2A. 
THIS IS A COMPUTATION QUESTION. A function f of n and s equals 3 times the sum n plus three-fifths s. If n equals 82 minus s, and f of n and s is 180, what is s?

ANSWER: 55 (This comes out to 3 ((82 - s) + 3s/5) --> 3 (82 – 2s/5) --> 246 – 6s/5 = 180 --> -6s/5 = -66 --> 6s = 330 --> s = 55)

2B.
What name is shared by a suburb of Dublin, Ireland, noted for its fairs, its brawls, and the resultant free-for-all?

ANSWER: Donnybrook
3A.
Outstanding writers in America vie to win a Pulitzer prize. What is the name of the award given to the author of the best novel by a writer in the British Commonwealth?

ANSWER: (Man) Booker Prize

3B.
What word describes an object, such as a polygon, where a straight line between any two points in that object is contained entirely within that object?

ANSWER: convex
4A.
What Associate Justice of the Supreme Court resigned in 1916 to run against Woodrow Wilson?

ANSWER: Charles Evans Hughes
4B.
Name the Italian physicist whose name is given to the unit of electric potential.

ANSWER: Count Alessandro (Giuseppe Antonio Anastasio) Volta (prompt on “volt”)

5A.
In a series of TV commercials over the years, many people would do anything for what dessert treat, consisting of "chocolate-coated ice cream loaded big and thick, no room for a stick"? 

ANSWER: Klondike bar

5B.
What 1996 law defining marriage for federal law as "a legal union of one man and one woman as husband and wife" has helped shape the current debate on gay marriage? 

ANSWER: Defense of Marriage Act or DOMA
6A.
What term describes a message, especially an advertisement, which is meant to be unnoticed by the conscious mind but to register with the unconscious mind?

ANSWER: subliminal message

6B.
One container has one mole of hydrogen gas and another container has one mole of oxygen gas. They are both opened. What will be the ratio of the rate of effusion of the hydrogen to that of the oxygen?

ANSWER: 4:1
7A.
Which co-founder of United Artists directed the films Broken Blossoms, Intolerance and The Birth of a Nation?

ANSWER: D(avid) W(ark) Griffith
7B.
What King of Qin [chin], born with the name of Zheng, united China in 221 BC and took a name that means "First Emperor?"

ANSWER: Shi Huang-di [shee hwang-tee] or Qin Shi Huang [chin shee hwang]

8A.
What is the nitrogenous base that exists only in RNA but not DNA?

ANSWER: uracil [YOO-ruh-SIL]

8B.
The "Half", "Orphan's", "Complete", "Rabbis'" and "Burial" are the main types of -- what Jewish prayers? 

ANSWER: kaddish [KAH-dish]

9A.
Henrietta Stackpole, Ralph Touchett, Gilbert Osmond, and Isabel Archer are all characters in what Henry James novel published in 1881?

ANSWER: The Portrait of a Lady
9B.
In Shakespeare's A Midsummer Night's Dream, the head of which character is replaced with that of an ass?

ANSWER: Bottom, the weaver (prompt on weaver)

10A.
THIS IS A COMPUTATION QUESTION. This problem requires both calculation and knowledge of American history.  What is the sum of the year Lincoln was first elected President and the year Kennedy was first elected President, divided by the Presidential number of Virginian James Monroe?

ANSWER: 764 ((1860 + 1960) / 5)

10B.
THIS IS A COMPUTATION QUESTION. What is the result when 1664 is divided by 32?

ANSWER: 52
Third period, 15 toss-ups, worth 10 points
1.  In 1995 he directed the border-war satire Canadian Bacon. He made another splash with a 1989 film on the negative impact of General Motors on his hometown of Flint, Michigan, Roger and Me. Who is this director of Bowling for Columbine and the anti-Bush documentary Fahrenheit 9/11?

ANSWER: Michael Moore
2.  THIS IS A COMPUTATION QUESTION. A man gets taxed at 40% for the profit made in day-trading stocks. How much profit did he make if he paid $1,200 in taxes?

ANSWER: $3,000 ($1.200 / .40 = $3,000)

3.  It runs between Leadville, Colorado, and the town of Napoleon in the state that has the same name as this river. What is this river that runs through Wichita, Kansas, and Little Rock?

ANSWER: Arkansas River

4. 
Ferns have around 1200 of them, and butterflies have around 380. The fact that a fruit fly has only eight made fruit flies even more valuable to genetic researchers. What are these gene carriers, of which humans usually have 46?

ANSWER: chromosomes
5.  What American author said, upon receiving the Nobel Prize for literature, "Our American professors like their literature clear and cold and pure and very dead"? He wrote Arrowsmith and Main Street.

ANSWER:  Sinclair Lewis
6.  He was the British man with the bushy moustache that pointed at the viewer, imploring viewers to join "your country's army" during World War I. Who is this man that commanded the British Army at Omdurman and also commanded British forces in the Boer War before becoming War Secretary during World War I?

ANSWER: Lord Horatio Kitchener
7.  James Carville is wrongly quoted as having originated this four-word phrase that hung in Bill Clinton's 1992 Presidential campaign headquarters. What is this four-word phrase used to keep Clinton focused on the recession and the financial well being of Americans?

ANSWER: “It's the economy, stupid”
8. 
This medical term gets its meaning from the Latin for "I will please." The effect associated with this term involves the psychological effect of the patient believing the treatment will work. What is this term for something that has no therapeutic effect, but administered as if it were a real medical treatment?

ANSWER: placebo
9.  The largest of these objects in the world, B15A [B-15-A], is about the size of Long Island. It ran aground in January, threatening to cut off supply ships to research stations and starve several thousand penguins. What type of object is B15A, an object that apparently won't sink any ships?

ANSWER: iceberg
10.  Identify the part of speech the clause is in the following sentence: Mother does not know when the family will arrive for the holidays.

ANSWER: Adverb or adverbial clause

11.  Spelled one way, it means an influence, feeling or force that binds or restrains; spelled another, it means harmony of color or a line segment that joins two points on a curve. What is the word?

ANSWER: cord or chord
12.  During the Crusades the Knights Templar had their headquarters here. It is located adjacent to the al-Aqsa [al-AK-suh] Mosque. What is this site where Mohammad is said to have ascended into heaven, located on the Temple Mount? 

ANSWER: Dome of the Rock or Qubbat as-Sakhrah [KOO-bat as-SAH-kruh] [DO NOT prompt on Masjid al-Aqsa]

13. 
In the Krebs citric acid cycle, two molecules of what energy-storing chemical are synthesized using phosphate groups?

ANSWER: ATP or adenosine triphosphate (do not accept ADP or adenosine diphosphate, as those are the “non-filled” version of ADP.)

14.  The combining of hydrogen and oxygen into water is an example of -- what type of chemical reaction where two simple substances combine to form a more complex substance?

ANSWER: synthesis reaction

15.  Harry S. Truman described it as a "slave-labor bill" and vetoed it, but Congress overrode the veto. It was an amendment of the Wagner Act, or the National Labor Relations Act of 1935, and allowed individual states to pass "right to work" laws. What is this law that has been the cornerstone of labor relations since its 1947 passage?

ANSWER: Taft-Hartley Act or Labor-Management Relations Act

Spare questions 
Try to replace the question discarded with the spare question in a subject area – i.e. science for science, social studies for social studies, etc.) Be sure to mark off the questions as they are used.
1.  Eric Gairy was the first leader of this country, ruling from 1974 until his overthrow in 1979. Maurice Bishop ruled until 1983, when Bernard Coard, a hardline Marxist, overthrew him. What is this country that the United States then invaded six days later, fearing a Soviet base in the Caribbean?

ANSWER: Grenada
2.  This operating system shares its name with a Swiss brand of washing powder. Technically its name refers only to its kernel, but it has come to commonly refer to all operating systems that use its kernel and the library and tools from the GNU [guh-new] project. Starting to gain support from companies such as IBM, what is this operating system originally written by Linus Torvalds?

ANSWER: Linux [LIH-nucks]

3.  THIS IS A COMPUTATION QUESTION. On a map, one inch represents three kilometers. If one kilometer equals .62 miles, how far apart, in miles, are two towns that are shown 4 inches apart on the map?

ANSWER: 7.44 miles [4 inches = 12 kilometers, multiply 12 by .62, which is 7.44]

4.  IBM won the contract to produce the Cell processors for this system.  It will feature memory technology from Rambus, and use Blu-ray discs, yet still allow the play of DVD movies and games from the previous system.  Now scheduled for release around Christmas 2005, what is this upcoming video game console made by Sony?

ANSWER: Sony PlayStation 3 (DO NOT prompt on PlayStation)

5.
Gethen is a planet inhabited by androgynous humanoids who can change their sex once a month in this novelist’s The Left Hand of Darkness. Who is this science-fiction writer also known for her Earthsea trilogy?

ANSWER: Ursula K(roeber) Le Guin
All questions ©2005 by the question writers. Unauthorized use, as described on the first page of this document, is prohibited.

